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And it is written, and a man who places a blemish, etc.

Overview

Ww°pY W1 maintains that 130w NPPYA %20 are exempt from payment. X217 explained
that 9" derives it from 797 79n." Initially the X3 thought it may the 7109 of 79m
nnY QIR 79m) "aabwe 7ana. However, the Xna concluded that it is the r° o°09 and
.2 The issue here is whether this 7w7 of 791 797 is a W', or is it 7210 (since
1> P10 and v are next to each other).

- P21 KIX 9999 MY N K 2799 PHROIY Y0947 ION
Some text read 'm% Ty (that v’ 109 is next to 1° P109), which would indicate
that we do not derive the exemption of P n1pPHn °2»n from payment through a
(701 71on) w''ta, but rather through 192120 —

mooin offers some support for this contention:
- N)INN NP VPN NINHY Shnna nant NP P2AVTIN NIP YIYN 19

And it somewhat seems so, since the X7 abandoned the 210D of %272 7on, and
mentioned another pio3.

mooIn poses a difficulty with this interpretation:
- "N honn 99 N3 NN NATYT HIN INN (2,30 oV) 52)nn wIaa 709991 191

However, since the X3 asks in the beginning of %2177 P79, ‘why do you prefer

! These are the relevant 2°p109 (from 75 P12 [nR] X1P*1) discussed here: 1) W3 oA W) mnow? mnoa wWo) mem m.

2) 9 Ay 12 7Y WRD IRy 0 197 03 WOR) L. 3) Nt 07X 38Y A3PY? ana2 7w X3, The X na refers to v2 p109 as 7on,
since MRpP 7831, and a 0% happens through 71X571, see the X713 here.

* See footnote # 1.

3 This is the X071 in our n1m3. See “Thinking it over’.

4 X2 can (still) refer to v> 2105 as 1197, since MRP 7RI I8, as the X713 shortly concludes. See footnote # 1.

> This is X P0D.

% This is v* 0. Initially we assumed the w17 of 191 7191 to be based on X p1og. If 7197 719m is a W', so even though
the X713 needed to abandon the end of X2 109, since it discusses iin°a (but not 1°11), nevertheless it could have kept
the 7on of X3 709, and utilized it for the w"r with v p1oo. The fact that the X732 abandoned the entire X2 P09,
indicates that the 119 1197 w17, based on v ° @°*P105 are only a w77 of 1210, but not a W'

7 The xn>2 there is deriving that when the 770 write ¥ nnn 1y, it does not mean literally an eye for an eye, but
rather it means a monetary payment. The &n>12 utilized this same 7wA7 of 751 751; meaning that just as by 7172 791
one pays money, similarly if one wounds a person, he also only pays money.

¥ The X3 there asks why derive wounding a person (712%) from wounding an animal (and therefore say that nrn v
1Y means money) let us derive wounding a person from the 105 of n»1> o7X 798y (which is X2 p109), so just as there,
it means actual killing (not money), so too 7°¥ NN ¥ means literally an eye for an eye.
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to derive it from 777773 17o%, let us derive it from 2R 775%°, this question -
- 7NN MY DAY YN

Indicates that 7on monis a w''ss —

Moo addresses the obvious question:10
= 5753 01 1117 23 MINND) DTN NINNI 911 TPIVYNT DIVN “m:p NP1 12 9777 N

And the reason the X 1) retracted from the original ?op, is because since it
was necessary to retract from the end of the P05 which is n»y’ 278 n:m,“ and to

cite instead the (1) P10 of IN%MAY2 2% NS 93, therefore the X3 -
= 1159 79104 71902 W) 191 1) NINYY NN NI ) %1 91N

Also retracted from the m02 of (RXD) mar2 mon, and cited instead the (77°) p10d of
a2 wel mon, which is near the P00 of (v°) \nnva 0w 0 0 —

Mmoo offers an alternate interpretation why the 2°105 were switched:
- Bnyotn 224 NanTah NP NP TPIVOYINT ©IUN 5923 ON

Or you may also say, the 0?09 were switched because the initial (X2) oD is

necessary for the w77 of the 1''7n that Panw nnn 20 are P>wnn 11D -
- %915 DN 197 AN NV ANIDTY NANA NN NN THIOWN 3193 **19Y 199 1NN

And even according to the one who disagrees with 1"7n, nevertheless X2 P09 is
also necessary to teach us just as wounding an animal for medicinal purposes is

exempt, so too wounding a person, etc. for medicinal purposes, is also exempt -
(oW 3,79 PaT1me) PPININ W91 13999NTD

As the X713 states in the beginning of y3pami7 po.

Summary
n1poIN (seemingly) concludes that 7127 7327 is a w"Ta (not 1°210).

Thinking it over
If we assume that 797 7701 is a "1 (not 1°110), should the X077 still be 797 7°m071'?

° If 7on 7191 means (just) 1"21m0 how can the X713 ask that instead of deriving (v P109) O7X 719 from 109) 7”2 7O7
(7, which are 1210, we should derive ©v> P05 from &> P109; but they are not 1210, so what is the question?
However, if we say that 751 7101 is a w"a so it makes no difference where the 0°p105 are, relative to each other, the
$'R3 question is understood; why use a w"T3 to compare a person to an animal, when we can compare a person to a
person.

10 See footnote # 6.

1 xa 109, which is 715w anna 7M.

12 This 2109 is not concerning 1211 (of 1°¥ nnn 1Y), but rather ann.

" See previously on this Tmy.

1 See 'm 7"7 'on previously on this 7y [TIE footnote # 18 and (text by footnote) # 19].
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